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PART A: Grammar and Vocabulary

76-

71-

78-

79-

81-

82-

83-

84-

85-

87-

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words
or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.
Lhave .. visited Africa, but I have ............ to South America several times.
1) never / gone 2) ever / gone 3) never / been 4) ever / been
If you don’t clean your bedroom, your mother ............ to the movie tonight.
1) will not allow you to go 2) won’t allow you going
3) would not allow you to go 4) wouldn’t allow you go
The store is having a great sale today. Most laptops are at least 25% ............ they were yesterday.
1) as cheap as 2) the cheapest
3) cheaper than 4) more cheaply than
Samira’s flight from Vancouver took more than 11 hours. She ............ be very tired after such a long
flight. She ............ prefer to stay in tonight and get some rest.
1) must / might 2) has to / may 3) must / can 4) has to / could
Tobacco addiction costs our ............ a lot of money in medical care for both smokers, and those around
them.
1) culture 2) lifestyle 3) function 4) society
A number of ships and planes were reported to have mysteriously ............ after entering the area
known as the Bermuda Triangle in the Atlantic Ocean.
1) disappeared 2) separated 3) identified 4) endangered

At the moment there are just four television channels in our country, which broadcast content such as
wreesseenses » NEWS and sports.

1) entertainment 2) development

3) improvement 4) arrangement

Walt Disney’s .....c...... and creativity resulted in the production of some wonderful animated movies.

1) explanation 2) imagination

3) variation 4) suggestion

The right of children to play improves their ............ physical and psychological development and builds
stronger communities.

1) advanced 2) available

3) energetic 4) healthy

Worsening eyesight ........... her from seeing the screen easily, and lately she has been reading with the
aid of eyeglasses.

1) involves 2) regards 3) prevents 4) measures

In the course of her charity work she was known to many people in the local towns and was very
............ with everybody.

1) mental 2) constant 3) public 4) popular

In Siberia, it can get so cold that the moisture in a person’s breath freezes, and can ............ be heard

when it falls to earth as ice crystals.
1) deeply 2) physically 3) actually 4) strongly
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PART B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice, (1), (2), (3), or (4), best fits each space. Then mark your answer sheet.

The term “information technology,” or IT for short, is used to describe technologies that handle, store,
process, and transmit, or pass on, information. When people talk about IT, they usually mean the use of
computers ...88..., but radio, television, telephones, fax machines, and DVD players are also examples of
information technology. Information technology in some form ...89... since humans developed pictures and
writing, while later inventions such as printing made information more widely ...90... . Modern
information technology is based on electronics; ...91... amounts of information, including pictures and
sounds, can be stored as electric signals and transmitted anywhere in the world. Information technology
...92... in every part of our lives from schools and hospitals to shopping. Its impact has been enormous,
making the world truly a “global village.”

88- 1) storing and passing on an information 2) to store and pass on informations

3) store and pass on information 4) to store and pass on information
89- 1) exists 2) is existed 3) is existing 4) has existed
90- 1) symbolic 2) probable 3) available 4) balanced
91- 1) deep 2) vast 3) rapid 4) fast
92- 1)used 2) is used 3) using 4) to use

PART C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your
answer sheet.

Passage 1:

For centuries men dreamed of achieving vertical flight. In 400 A.D. Chinese children played with a fan-
like toy that spun upwards and fell back to earth as rotation ceased. Leonardo da Vinci conceived the first
mechanical apparatus, called a “Helix,” which could carry man straight up, but was only a design and was
never tested.

The ancient dream was finally realized in 1940 when a Russian engineer piloted a strange looking craft
of steel tubing with a rotating fan on top. It rose awkwardly and vertically into the air from a standing
start, hovered a few feet above the ground, went sideways and backwards, and then settled back to earth.
The vehicle was called a helicopter.

Imaginations were fired. Men dreamed of going to work in their own personal helicopters. People
anticipated that vertical flight transports would carry millions of passengers as do the airliners of today.
Such fantastic expectations were not fulfilled.

The helicopter has now become an extremely useful machine. It excels in military missions, carrying
troops, guns and strategic instruments where other aircraft cannot go. Corporations use them as airborne
offices, many metropolitan areas use them in police work, construction and logging companies employ them
in various advantageous ways, engineers use them for site selection and surveying, and oil companies use
them as the best way to make offshore and remote work stations accessible to crews and supplies. Any
urgent mission to a hard-to-get-to place is a likely task for a helicopter. They have been also used to deliver
people across town, fly to and from airports, assist in rescue work, and aid in the search for missing or
wanted persons.

93- When helicopters were first introduced people expected that ............ .

1) the present-day airliners would eventually be replaced by helicopters

2) helicopters would someday be able to transport large numbers of people from place to place
3) the imaginations fired by the Russian engineer would become a reality in the future

4) their fantastic expectations about helicopters could be fulfilled by present-day airliners
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94- According to the passage, helicopters work with the aid of ............ .
1) a combination of rotating devices in front and on top
2) a rotating device topside
3) one rotating fan in the center of the helicopter and others at each end
4) a rotating fan underneath for lifting the helicopter
95- How has the use of helicopters developed in the past decades?
1) They have been widely used for various purposes.
2) They are taking the place of high-flying jets.
3) They are mostly used for rescue work.
4) They are now used exclusively for commercial projects.
96- Under what conditions are helicopters found to be absolutely essential?
1) for overseas passenger transportation
2) for extremely high altitude flights
3) for high-speed transportation
4) for urgent mission to places inaccessible to other kinds of craft
Passage 2:

There are two basic ways to see growth: one as a product, the other as a process. People have generally
viewed personal growth as an external result or product that can easily be identified and measured. The
worker who gets a promotion, the student whose grades improve, the foreigner who learns a new language
— all these are examples of people who have measurable results to show for their efforts.

By contrast, the process of personal growth is much more difficult to determine, since by definition it is
a journey and not the specific signposts or landmarks along the way. The process is not the road itself, but
rather the attitudes and feelings people have, their caution or courage, as they meet with new experiences
and unexpected obstacles. In this process, the journey never really ends; there are always new ways to
experience the world, new ideas to try, new challenges to accept.

In order to grow, to travel new roads, people need to have a willingness to take risks, to confront the
unknown, and to accept the possibility that they may fail at first. How we see ourselves as we try a new way
of being is essential to our ability to grow. Do we perceive ourselves as quick and curious? If so, then we
tend to take more chances and to be more open to unfamiliar experiences. Do we think we’re shy and
uncertain? Then our sense of timidity can cause us to hesitate, to move slowly, and not to take a step until
we know the ground is safe. Do we think we’re slow to adapt to change or that we’re not smart enough to
deal with a new challenge? Then we are likely to take a more passive role or not try at all.

97- Which of the following examples might be considered as personal growth in public’s eye?
1) a person who has given up his/her smoking habit

2) someone who has made great efforts in his/her work

3) a person who is fond of learning anything new

4) a young woman who has tried to determine where she is on her journey
98- In the author’s eyes, one who views personal growth as a process would ............ .

1) definitely succeed in climbing up the social ladder

2) confront difficulties and take up challenges

3) aim high and reach his/her goal each time

4) gain measurable results each time

99- The word “confront” in the third paragraph is closest in meaning to ............ .

1) notice 2) realize 3) change 4) face
100- For personal growth, the author would NOT agree that one should ............ .

1) be curious about more chances 2) deal with internal fears and doubts

3) focus only on measurable results 4) be open-minded to new experiences
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